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$hAr 77 (nEEM) [SIBEIR i [E *2, 400 *2, 400 230 3 31, 34 6.1, 11 A1160
SRV T v 7 (pEEM) |[SJEEIY ik [E] *1, 200 *1, 200 70 1 31, 34 6.1, 11 A1160
$hAr 77 (nEEM) [SIBEIR i [E *2, 400 *2, 400 100 1 31, 34 6.1, 11 A1160
SRV T w7 (ShEEM) |[SIEEI it [E] *2, 400 %2, 400 320 3 31, 34 6.1, 11 A1160
A 77 (nEEM) [SIBEIR [ *4, 000 %4, 000 290 5 | 27, 31, 34 1 A1160
SRV T w7 (SpEEM) |[SIEEIY it [E] *1, 000 *1, 000 297 5| 27, 31, 34 6.1, 11 A1160
$hAr 77 (nEEM) [SIBEIR i [E *1, 000 *1, 000 480 8 27, 31 11 A1160
RV T w7 (pEEM) |[SIEEIY it [E] *5, 000 *5, 000 1,375 7 31, 34 6.1, 11 A1160
$hAr 77 (nEEM) [SIBEIR i [E *2, 400 *2, 400 520 6 31, 34 6.1, 11 A1160
$R IR & B it [E] *1, 000 *1, 000 64 1| 24,27,31 11 A1020, A1030
SR )& [\ it ] *1, 000 *1, 000 208 1| 24,27,31 11 A1020, A1030
SRR 4 JE =1 it [E] *500 %500 64 3 31 11 A1020
FnIK )& [\ it %] *1, 000 *1, 000 288 1| 24,27,31 11 A1020, A1030
SRV T v 7 (hEEM) |[SIEEI it [E] *2, 400 %2, 400 100 1 31, 34 6.1, 11 A1160
$hAr Z v 7 GpEgdE) |&EEIR i [E *3, 600 *3, 600 985 7 31, 34 6.1, 11 A1160
SRV T w7 (ShEEM) |[SIEEIY [ *3, 000 %3, 000 835 8 31, 34 6.1, 11 A1160
$hAr Z v 7 (GpnigdE) |&EEIR it %] *1, 900 *1, 900 542 4 31,34 6.1, 11 A1160
SRV T w7 (GpEEM) |[SIEEIY [ *3, 600 *3, 600 1, 050 6 31, 34 6.1, 11 A1160
$hAr T v 7 GpigdE) |&EEIR i %] *10, 000 %10, 000 2,921 17 31, 34 6.1, 11 A1160
SRV T w7 (GnEEM) |[SIEEIY [ %24, 000 %24, 000 2, 120 6 31, 34 6.1, 11 A1160
AT vV &g EIR TAUH *90 *90 36 2 22 2 A1050
RV T w7 (nEEM) |[SIEEIY [ *4, 000 *4, 000 1,610 15 31, 34 6.1, 11 A1160
$hAr Z v 7 (GpEgdE) |&EEIR i %] #21, 800 *21, 800 200 2 31, 34 6.1, 11 A1160
SRV T w7 (hEEM) |[SIEEIY [ *3, 600 *3, 600 1,992 22 31, 34 6.1, 11 A1160
$hAr Z v 7 (GpigdE) |[&EEIR i %] *1, 000 *1, 000 18 1| 27,31,34 6.1, 11 A1160
HARZ v 4 JE =] TAIVH #650 *650 18 1 22 2 A1050
$hAr Z v 7 GpEgdE) |[&EEIR i [E *3, 000 *3, 000 483 4 31, 34 6.1, 11 A1160
RV T w7 (pFEEM) |[SIEEIY [ %10, 000 %10, 000 1,243 11 31, 34 6.1, 11 A1160
thAr Z v 7 i) |&EEIR i %] *10, 000 %10, 000 1,139 17 31, 34 6.1, 11 A1160
ALY oA & B EIX TAUM *2 *2 0 1 24 11 A1010
$hAr Z v 7 GpEgdEt) |&EEIR it %] *3, 600 *3, 600 1,095 12 31, 34 6.1, 11 A1160
SRV T w7 (pEEM) |[SIEEIY [ *5, 000 %5000 2, 262 20 31, 34 6.1, 11 A1160
$hAr Z v 7 GpEgdE) |&EEIY i %] *1, 200 *1, 200 175 2 31, 34 6.1, 11 A1160
RV T w7 (ShEEM) |[SIEEIY [ *3, 400 *3, 400 1,095 10 31, 34 6.1, 11 A1160
$hAr T v 7 GpEgEi) |&EEIR [ *2, 400 2, 400 210 3 31, 34 6.1, 11 A1160
SRV T w7 (SpEEM) |[SIEEIY HE[E *2, 400 2, 400 380 4 31, 34 6.1, 11 A1160
$hAr Z v 7 GpEgEi) |&EEIN [ *5, 000 *5, 000 110 1 31, 34 6.1, 11 A1160
=IITNART 9T 4 JE =] TAIVH *150 150 68 5 23 2 A1050
$hAr Z v 7 GpEgdE) |&EEIR i %] *8, 000 8, 000 3, 890 13 31, 34 6.1, 11 A1160
RV T w7 (pEEM) |[SIEEIY [ *3, 000 3, 000 997 10 31, 34 6.1, 11 A1160
$hAr Z v 7 GpEgdE) |&EEIR [ *3, 600 3, 600 168 3 31, 34 6.1, 11 A1160
NEDLT 4 JE =] YL F— *600 600 456 17 31 11 A1020 A1020
FnIK & )& E1IR i %] *2, 000 2, 000 1,691 6 | 24,27,31 11 A1020, A1030
RV T w7 (pEEM) |[SIEEIY [ *4, 000 4, 000 1,836 35 | 27,31,34 6.1, 11 A1160
$hAr Z v 7 GpnEgdE) |&EEIR [ *3, 600 3, 600 130 2 31, 34 6.1, 11 A1160
Ao 77 GnEEM) [SIBEIX [ 6, 000 3, 500 1, 740 16 31, 34 6.1, 11 A1160
NUEDL S & J& Bl AL F— 500 500 226 6 31 11 A1020 A1020
Ay 77 GnEEM) [SIBEIX [ 5, 000 5, 000 1,570 24 31, 34 6.1, 11 A1160
thAr Z v 7 GpEgdE) |&EEIR i %] 5, 000 5, 000 1,663 22 31, 34 6.1, 11 A1160
Ay 77 GnEEM) [SIBEIX [ 5, 000 5, 000 737 16 31, 34 6.1, 11 A1160
$hAr Z v 7 GpEgE) |&EEIR [ 2, 400 2, 400 570 7 31, 34 6.1, 11 A1160
Ao 77 GnEEM) [SIBEIX i [E] 2, 400 2, 400 120 2 31, 34 6.1, 11 A1160
$hAr Z v 7 (GpEEdE) |&EEIR %[ 3, 000 3, 000 80 1 31, 34 6.1, 11 A1160
WAy 77 GhEEM) [SIBEIX i [E] 5, 000 31, 34 6.1, 11 A1160
$hAr T v 7 GpEgdE) |&EEIR [ 2, 400 2, 400 520 7 31, 34 6.1, 11 A1160
Ay 77 GhEEM) [SIBEIX i [E] 2, 400 2, 400 670 8 31, 34 6.1, 11 A1160
A 77 (nEEM) [SIBEIR i [ 2, 400 2, 400 335 3 31, 34 6.1, 11 A1160
WAy 77 GhEEM) [SIBEIX it [E] 10, 000 10, 000 2, 498 20 31, 34 6.1, 11 A1160
A 77 (nEEM) [SIBEIR i [E 5, 000 5, 000 360 3 31, 34 6.1, 11 A1160
Ay 77 GhEEM) [SIBEIX it [E] 2, 000 27, 31 1 A1160
A 77 (nEEM) [SIBEIR it ] 1, 000 27,31, 34 6.1, 11 A1160
Ay 77 GhEEM) [SIBEIX it [E] 1, 000 1, 000 432 6 | 27,31,34 6.1, 11 A1160
$hAr 77 (nEEM) [SIBEIR i [ 1, 000 1, 000 324 6 27, 31 11 A1160
Ay 77 GhEEM) [SIBEIX it [E] 3, 600 3, 600 50 1 31, 34 6.1, 11 A1160
$hAr 77 (nEEM) [SIBEIR i [E 3, 600 3, 600 415 3 31, 34 6.1, 11 A1160
Ay 77 GhEEM) [SIBEIX it [E] 6, 000 6, 000 61 2 31, 34 6.1, 11 A1160
A 77 (nEEM) [SIBEIR [ 6, 000 1, 000 280 7 31 11 A1160
Ay 77 GnEEM) [SIBEIX ik [E] 6, 000 1, 000 696 6 31, 34 6.1, 11 A1160
$hAr 77 (nEEM) [SIBEIR i [E 2, 400 2, 400 230 2 31, 34 6.1, 11 A1160
Ay 77 GhEEM) [SIBEIX it [E] 3, 600 3, 600 260 2 31, 34 6.1, 11 A1160
$hAr 77 (nEEM) [SIBEIR it ] 5, 000 31, 34 6.1, 11 A1160
Ao 77 GhEEM) [SIBEIX it [E] 5, 000 5, 000 31, 34 6.1, 11 A1160
A 77 (nEEM) [SIBEIR i %] 5, 000 5, 000 647 12 31, 34 6.1, 11 A1160
WAy 77 GhEEM) [SIBENIX it [E] 1, 200 1, 200 70 1 31, 34 6.1, 11 A1160
$hAr 77 (nEEM) [SIBEIR it ] 4, 800 31, 34 6.1, 11 A1160
#RIR & B EI it [E] 1, 000 1,000 177 2 | 24, 27, 31 1 A1020, A1030
$hAr 77 (nEEM) [SIBEIR it ] 4, 000 31, 34 6.1, 11 A1160
$hAr 77 GnEEW) [SIBEIX [ 2, 000 2, 000 25 1 31, 34 6.1, 11 A1160
$hAr Z v 7 GpnigdE) |[&EEIR i [E 1, 000 1,000 54 1 27, 31 11 A1160
Ay 77 GhEEM) [SIBEIX [ 2, 400 1, 200 100 1 31, 34 6.1, 11 A1160
$hAr Z v 7 i) |&EEIR i [ 2, 500 2, 500 550 2 31 6.1, 11 A1160
Ay 77 GhEEM) [SIBEIX [ 100 31 11 A1160
$hAr Z v 7 GpEgdEi) |&EEIR i [E 4, 000 4, 000 220 2 31, 34 6.1, 11 A1160
Ay 77 GhEEW) [SIBENIX [ 6, 000 6, 000 3, 460 17 31, 34 6.1, 11 A1160
$hAr Z v 7 GpEgdEi) |&EEIR [ 3, 000 3, 000 31, 34 6.1, 11 A1160
Ay 77 GhEEW) [SIBEIX [ 5, 000 5, 000 648 9 31 6.1, 11 A1160
$hAr Z v 7 GpEgdEi) |&EEIR it ] 1, 000 27, 31, 34 6.1, 11 A1160
Ay 77 GnEEM) [SIBEIX [ 2, 000 31, 34 6.1, 11 A1160
$hAr Z v 7 GpigdE) |&EEIR it ] 9, 600 31, 34 6.1, 11 A1160
$hAr 77 GhEEM) [SIBEIX [ 15, 000 31, 34 6.1, 11 A1160
$hAr Z v 7 GpEgdE) |&EEIR it ] 1, 000 31, 34 6.1, 11 A1160
Ay 77 GhEEW) [SIBEIX [ 1, 000 31, 34 6.1, 11 A1160
$hAr Z v 7 GpEgdE) |&EEIR [ 10, 000 10, 000 136 2 31, 34 6.1, 11 A1160
Ao 77 GhEEM) [SIBENIX [ 8, 000 31, 34 6.1, 11 A1160
ERGEHAT vV £ [EIR TAUh 1, 000 22 2 A1050
Ay 77 GhEEM) [SIBENIX [ 1, 500 31, 34 6.1, 11 A1160
$hAr Z v 7 i) |&EEIY it ] 2, 000 31, 34 6.1, 11 A1160
$hrr 77 GnEEM) [SIBENIX [ 2, 000 31, 34 6.1, 11 A1160
$hAr Z v 7 GpEgE) |&EEIR it ] 6, 000 31, 34 6.1, 11 A1160
Ay 77 GhEEM) [SIBENIX HE[E 3, 600 31, 34 6.1, 11 A1160
$hAr Z v 7 GpEgdEi) |&EEIR it ] 4, 800 31, 34 6.1, 11 A1160
=TIV AT D & B EI FAY 300 17 A1050
FnIK & J& B eS| 500 31 11 A1020
WAy 77 GnEEM) [SIBENIX HE[E 5, 000 5, 000 120 2 31, 34 6.1, 11 A1160
$hAr Z v 7 GnEgdEm) |&EEIR it ] 8, 000 31, 34 6.1, 11 A1160
A 77 GhEEW) [SIBEIX HE[E 1, 500 31, 34 6.1, 11 A1160
thAr Z v 7 GpEgEE) |&EEIR it ] 2, 000 31, 34 6.1, 11 A1160
NUEDLT 4 JE =] AL F— 600 31 1 A1020 A1020
A 7 w7 (nEEM) [SIBEIR it ] 8, 400 31, 34 6.1, 11 A1160
Y 239, 500 153, 850 54, 204
[EE 64 46 535
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